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Section    Introduction
Introduction: Overview about this Module
Q1: The classifying of transaction grid has two objects:
Answer:  Business and customer
Q2: Mention four types of transaction grid?
Answer:
a) Business to Customer: referred to as (Organization to Individual or O-2-I)
b) Business to Business: referred to as (Organization to Organization or O-2-O)
c) Customer to Business: referred to as (Individual to Organization or I-2-O)
d) Customer to Customer: referred to as (Individual to Individual or I-2-I)

Q3: Business to Business referred to as ______________________. (Answer: Organization to Organization or O-2-O)
Q4: Business to Customer referred to as ______________________. (Answer: Organization to Individual or O-2-I)
Q5: Customer to Business referred to as ______________________. (Answer: Individual to Organization or I-2-O)
Q6: Customer to Customer referred to as ______________________. (Answer: Individual  to Individual  or I-2-I)
Q7: ___________________________This is the typical type of transactions where a customer buys a product from a business. (Answer: Business to Customer).
Q8: ___________________________This is an area where experts think that most future growth will happen.  This type of transaction takes place between two businesses (Answer: Business to Business).
Q9: ___________________________As set of customers can group together and order some products in bulk directly from manufactures trying to get a good deal and cut the profits of the middle man. (Answer: Customer to Business).
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Q10: ___________________________this type of transaction make customers could deal directly with each others via the internet and conduct some business transactions. (Answer: Customer to Customer).
Q11: ___________________________this type of transaction make customers could deal directly with each others via the internet and conduct some business transactions. 
a. Customer to Business
b. Business to Customer
c. Customer to Customer
d. Business to Business
Answer: c
Q12: Customer to Business is a  type of transaction make customers could deal directly with each others via the internet and conduct some business transactions. . (Answer: False) correct answer is (Customer To Customer).
Q13: The rapid development and wide use of the Internet resulted in a rise of many companies, such as called _______________________.
a. Internet Bubble or Dot-com boom
b. Losing the Market
c. Gaining the Market
d. All the of the above
e. None of the above
Answer: a
Q14: 2005 companies will either be Internet companies – or they won’t be companies at all, whom said that statement:
a) John Mauckly
b) Licklider
c) Bill Gates
d) Andy Grove
Answer: d
Q15: Internet is _________________________, it allows It allows contradictory facts to be true simultaneously, and In some cases the Web enables smaller businesses to rise, and in others it inhibits them.

a) Losing the Market

b) Dot-com boom

c) paradoxical phenomenon

d) None of the above

Answer: C
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Section 1: O-2-I Richness vs. Reach
Q1: State six main aspects that define the richness of information: 

Answer: 
1. Bandwidth or amount of information

2. Customization of information to an individual buyer.

3. Reliability 

4. Security

5. Currency (in term of how current or up to-date the information is)

6. Interactivity between buyer and seller.

Q2: Try to define the reach of information:
Answer: 
Is the number of people who participate in the sharing of that information.
Q3: The richness vs. reach concept means that the richer the information is the less reach it has and vice versa. (Answer is: True)
Q4: As a company increases its reach, it necessarily and unavoidably decreases its richness. (Answer is: True)
Q5: Many standards do not represent the best possible means of achieving a function, but they are good enough and more importantly, they are universal, so they can be used for more than one application. (Answer is: True)
Q6: HTML is quite a poor hypertext system. . (Answer is: True) is an example of Standard.
Q7: The proprietary tools may offer a richer environment than HTML, with more functions, but the crucial thing about HTML was that it was universal, easy and free. (Answer is: True)
Q8: This is another instance of the richness vs. reach trade-off. (Answer is: True), because You can have a very rich, but specific piece of hypertext software, or one which is low in richness, but has a great reach.
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Q9: A Very good software that offers lots functionality _________but is used by only a small number of people __________. (Answer: Rich, Not Reach).
Q10: A software standard that is ____________ (like HTML) in functionality but has a lot of __________. (Answer: Not Rich, Reach).
Q11: An example of online business can 'blow up' the richness vs. reach trade-off is: 

a) Yahoo

b) Amazon

c) Hotmail

d) All of the above

e) None of the above

Answer: b

Q12: An online bookstore can be accessed by anyone with access to the Internet ( it potentially has a far greater customer base than any shop or chain of shops (Reach is large). (Answer: True)

Q13: Richness is provided to the customer in many forms at the site, try to state some of these forms:

Answer:

1) Review and exchange with other readers

2) Personal recommendation 

3) Customized login screen

4) Communication

5) Interviews and exchanges with authors

Q14: What makes a product likely to succeed online? 
Answer:

1) Product characteristics

2) Familiarity and Confidence 

3) Consumer Attributes 
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Q14: State type of consumer attributes:

 Answer:

1) Social Shoppers

2) Experimenters 

3) Convenience shoppers 

4) Habit-bound die-hards 

5) Value shoppers 

6) Ethical shoppers 

Q15: __________________ these are people who enjoy the social aspect of shopping. They are sometimes called 'recreational shoppers' (unlikely to shop online).

a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: a
Q16: __________________ these are consumers who like to try new things, such as shopping over the Net (likely to shop online).

a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: b
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Q17: ___________________ these are people who have limited time and do not place shopping as a high priority (likely to shop online).

a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: c
Q18: ___________________ these are people who do not like to change or try new things. They tend to visit the same shops and buy the same goods (unlikely to shop online)
a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: d
Q19: Value shoppers - these are people for whom value is the most important characteristic and will go with whatever initiative offers the best value (likely to shop online)

a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: e
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Q20: ________________________ these are people who place a high value on ethics in their shopping so will buy fair trade coffee for instance and arrange their finances with banks which promote a strong ethical policy (likely to shop online).

a. Social Shoppers

b. Experimenters 

c. Convenience shoppers 

d. Habit-bound die-hards 

e. Value shoppers 

f. Ethical shoppers 

Answer: f
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Section 2: O-2-I Deconstruction
Q1:What is deconstruction?

Answer:
It is the process of reformulation of tradition business structure in such a way that Internet would have the ability to affect a big business structure by destroying a small piece of it.

Or

Is the dismantling and reformulation of traditional business structures.

Q2:_____________________________ is the feeling that the Internet is going to have a major effect on all our lives and is going to drastically change the way we live and conduct business so that e-business will replace any other type of business.

a) Disintermediation

b) Techno-Optimist

c) Techno-Pessimist

d) All of the above

e) None of the above

Answer: b

Q3: Try to define the Techno-Optimist?
Answer:
is the feeling that the Internet is going to have a major effect on all our lives and is going to drastically change the way we live and conduct business so that e-business will replace any other type of business.

f) Disintermediation

g) Techno-Optimist

h) Techno-Pessimist

i) All of the above

j) None of the above

Answer: b
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Q4: _________________________ is just the opposite.  It is the feeling that the Internet effect will be very minimal and might just provide another minor scene for established business.

a. Disintermediation

b. Techno-Optimist

c. Techno-Pessimist

d. All of the above

e. None of the above

Answer: c
Q5: Try to define the Techno-Pessimist?
Answer:

Is just the opposite.  It is the feeling that the Internet effect will be very minimal and might just provide another minor scene for established business.

Q7: Mention the impact of the Internet on the Traditional Business?
Answer:

1) shops become more Specialized

2)  Shopping becomes more of a social experience 

3) Shops become more service oriented 

4) Shops use a hybrid approach

5) Shops go online only

Q8: Some limitations in the initial design of Internet are:

Answer:

1. Lack of Privacy 

2. Anonymity

3. Encryption 
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Q9: Mention the requirement for encryption to provide a good level of security?

Answer:

1. The encryption process should be complex enough to make the encoded message difficult for unauthorized users to decrypt (break the code)

2. The Intended receiver should be able to decrypt that message back to it original format
3. The keys used for encryption and decryption should themselves be secure.

Q10 : State type of Encryption?

Answer:

1) Symmetrical

2) Asymmetrical
Q11 : What is Symmertical?

Answer:

The key used for encryption the message is the same as the key used for decryption it.

Q12 : What is ASymmertical?

Answer:

The key used for encryption a message is different from the key used to decrypt the same message.
Q13: The are two main protocols over the Internet used to provide security for e-business________________ and ________________.

Answer: (SSL, SET)
Q14: SSL stands for _____________________________________.

Answer: Secure Sockets Layer

Q15: SET stands for _____________________________________.

Answer: The Secure Electronic Transaction

Q16: SSL - This protocol was the first to be used and became the de-facto standard for e-business. (Answer: True).
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Q17: SSL -  It utilize the public key cryptography behind the scenes to provide security information exchange between the customer and the merchant. (Answer: True).
Q18: SET protocol is used by banks and credit card issuers. (Answer: True).
Q19: SET protocol It allows for more authentication of the user of the credit card.  This is done by introducing a third party who authenticates the identity of the customer. (Answer: True).
Q20: in SET Protocol Each participant should get a digital certificate. (Answer: True).

Q21: Due to its overhead, the SET protocol is not used widely over the Internet. (Answer: True).
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Section 3: O-2-I Disintermediation 
Q1: State an example on Disintermediation.
Answer
1) Online Banking

2) Online Pc Producer

Q3: Types of intermediaries.

Answer

a) Search engines and web directories
b) Review or link site

c) Portal sites

d) Intelligent agents

e) Business models

Q4: A __________________ is an intermediary website that allows the user to enter some information and then the website will in turn provide the user with a list of websites that contain relevant information based on what the user has entered.

a) Search engines and web directories

b) Review or link site

c) Portal sites

d) Intelligent agents

e) Business models

Answer: a

Q5: A web directory is a way of listing many services in a well organized manner that allows the user to get the service needed in a very short time.

a) Search engines and web directories

b) Review or link site

c) Portal sites

d) Intelligent agents
e) Web Directory 

f) None of the above

Answer: e
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Q6: __________________ are major sites that are frequently visited and act as a gateway to the internet like AOL, MSN and yahoo.

a) Search engines and web directories

b) Review or link site

c) Portal sites

d) Intelligent agents

e) Business models

Answer: c

Q7: In the process of intelligent agents, computers are needed to behave in a relatively intelligent way to perform a certain task online. Some example of categories that these agents could help in are:

Answer:

a) Product Brokering
b) Merchant Brokering
c) Negotiator
Q8: _____________________ This agent enables you to know about sales of a certain product and other types of similar products available.
a) Product Brokering
b) Merchant Brokering
c) Negotiator
d) All of the above
e) None of the above
Answer: a

Q9: _____________________ this agent look although the net for comparing prices of a certain product and then list back to you the best prices.

a) Product Brokering
b) Merchant Brokering
c) Negotiator
d) All of the above
e) None of the above
Answer: b
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Q10: _____________________ this agent negotiates with a certain merchant on your behalf and will communicate with many producers (computers) and report back to you about the results.
a) Product Brokering
b) Merchant Brokering
c) Negotiator
d) All of the above
e) None of the above
Answer: c

Q11: State the ways of making money on the web.
Answer:
a. Advertising
b. Affiliation
c. Subscription
d. Selling information
Q12: ____________________Sites that are visited frequently (portals) can make a lot of revenue by providing the possibility to other business to advertise on its website( Ex: Ads on www.hotmail.com site).

a. Advertising
b. Affiliation
c. Subscription
d. Selling information
Answer: a

Q13: __________________ Some intermediary sites might link the customer to a seller who is affiliated with that site.  Similarly, search engines might list the websites you ask for  (based on a certain search) in a biased way in the sense that they would put sites they affiliated with at the top of the list.

a. Advertising
b. Affiliation
c. Subscription
d. Selling information
Answer: b
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Section 4: Organization to Organization
Q1: Organization to Organization (O-2-O) type of transaction is expected to be the most dominant and profitable area on the internet. (Answer: True).

Q2: For a company to be successful in (O-2-O), it doesn’t need that many customers because normally business customers will buy in big volumes. (Answer: True).
Q3: __________________is typically used to describe online transaction between an individual and an organization.
(Answer: E-commerce)

Q4: __________________ is used for online transactions involving two business or organization (O-2-O). (Answer: E-commerce)
Q5: _________________________is the process which companies use computers over some network to exchange data in a predetermined format and following some fixed rules (or protocols). (Answer: Electronic Data Interchange)
Q6: EDI is used to increase profits or reduce costs. (for example, it reduces paper work). (Answer: True)
Q7: Mention three disadvantages of EDI before internet, that made it less attractive option. 
Answer:

a) Cost

b) Network Complexity 

c) The Emergence of alternatives
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Q8: With internet, there is a network connecting almost everybody.  So, regular companies can use computers for EDI simply and cheaply (i.e no need for dedicated machines).  This makes EDI now a very attractive concept for many companies. (Answer: True)

Q9: ANX stands for ______________________________.

Answer:  Automotive Network Exchange 

Q10: ANX is a form of extranet which is similar to the internet but only authorized users can access it. (Answer: True)

Q11: ANX was introduced by three American car makers (Ford, Chrysler, GM), It was initially designed for these companies to exchange information with each other.  (Answer: True)

Q12: ANX could be seen as a controlled and more secure version of the internet. (Answer: True)

Q13: The main purpose of ANX is to increase profit for companies. (Answer: True)

Q14: State some of the potential effects of the Internet and e-business on organizations.

Answer:

1. An informed customer base

2. Increase competition

3. Increased Collaboration

4. Outsourcing
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Q15: The easy access of information through the internet enables any customer who wants to buy a certain product to have the ability to search and find the best deal, it’s referred to _______________________.

a) An informed customer base

b) Increase competition

c) Increased Collaboration

d) Outsourcing
Answer: a
Q16: XML is the successor for HTML, it is useful for business transactions. (Answer: True).
Q17: XML is used for complex transactions that need security and more standardization between organizations (which can’t be supported by HTML).

Answer: True

 Section    1    2    3    4    5    6    
Section 5: Individual to Organization
Q1: State some of the potential changes that new technologies had introduced on the way individuals interact within an organization.
Answer

· Flattening of hierarchies

· Deconstruction within the organization

· Efficient administration

· Tele-commuting or home working

Q2: _____________________________In an organization, the middle management hierarchies enable each layer to contact individuals below it and make decisions or pass information to the layer above it.
a) Flattening of hierarchies

b) Deconstruction within the organization

c) Efficient administration

d) Tele-commuting or home working

Answer: a

Q3: _____________________________ in an organization, some units in the organization can see their functions being performed by other units of the same organization.  This is known as Deconstruction within the organization.
a) Flattening of hierarchies

b) Deconstruction within the organization

c) Efficient administration

d) Tele-commuting or home working

Answer: b
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Q4: _________________________ Proper use of technologies can help organizations achieve efficient administration of many of its tasks.  This is an example of: 

a) Flattening of hierarchies

b) Deconstruction within the organization

c) Efficient administration

d) Tele-commuting or home working

Answer: c
Q5: ________________________ This concept is based on the idea that instead of coming to work everybody, regular employees of an organization can perform their duties while staying at home.

a) Flattening of hierarchies

b) Deconstruction within the organization

c) Efficient administration

d) Tele-commuting or home working

Answer: d
Q6: Sate four synchronous communication is needed in some cases where it offers great benefits over asynchronous communication.  
Answer: 

a) Troubleshooting

b) Socializing

c) Real time events

d) Making decisions
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Section 6: Individual to Individual
Q1: There are sites where individuals can place items up for sale and other individuals can bid for these items.  

a) Online auction sites

b) Chatting Sites
c) Shopping Sites
d) Portal Sites
e) None of the above
Answer: a
Q2: Mention three sites factors can decide the successful operation of an online auction site.

Answer: 

· Trust

· Payment

· Policing

Q3: _______________________ can have their own website that might contain reviews of relevant products and advice on where to get those products.

Answer: Consumer communities

Q4: _______________________ People can also group together based on interest and they could form online.

Answer: communities of interest.

Q5: Some people can group together so that they can benefit from services without having to pay for it, an example of such a grouping is __________________________.

Answer: economics of online cooperation.
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